HIGHWAY HAWIK

Fatbar Low G332

’ MGHML/’A\_V%L’A‘_‘/)JZ
o Koy GIIC W o o Mona @ e
peasstonor ST Art No. 598-030 psslony o ST
Components
1 |Fatbar Low @32 1x
2 |Bolt M8 x 16 2X
3 |Washer M3 2X
41Bolt M10 x 20 2x
5|Washer M10 2X
6 |Ty-rap 1Xx
Torque
Bolt size / thread | Steel | Steel 8.8 [Stainless
Ms 6Nm 9Nm 4Nm
Mé 10Nm 15Nm 7,5Nm
M8 25Nm 37Nm 18Nm
M10X1.25 S7Nm 83Nm 37Nm
M12X1.25 101Nm| 149Nm 71Nm
M12 87Nm | 130Nm 62Nm

Please check all fixings and mounting points
before assembily as listed on the mounting instrucion sheet.

© Motorrad Burchard GmbH advises installation by a professional mechanic.

We do not accept responsibility for improper installation.

© Motorrad Burchard GmbH

Lemgo — Germany




